ARjt aag, Lfb] ARjt aag; Lfb]

ARj¢(by)
0.4-0.6 16400 £ 200 £ 1100 1.4-1.6 32600 £ 200 4= 1800
0.6-0.8 27300 £ 200 £ 1600 1.6-2.0 31300 £ 100 £ 1700
0.8-1.0 28800 4= 200 4 1600 2.0-2.5 25600 4= 100 + 1400
1.0-1.2 31400 4 200 4+ 1700 2.5-4.5 4450 = 20 £ 230
1.2-14 32800 £ 200 £ 1800 —

ARt (by)
0.4-0.6 21800 4= 200 4 1300 1.4-1.6 41600 4= 200 % 2200
0.6-0.8 36500 == 200 4 2000 1.6-2.0 30800 £ 100 4 1700
0.8-1.0 41800 4 200 4 2200 2.0-2.5 14340 + 100 £ 840
1.0-1.2 46100 4= 200 4 2400 2.5-4.5 980+ 15 £75
1.2-14 45800 =4 200 £ 2500 —

ARjt(jw1)
0.4-0.6 23400 4= 200 4 1200 1.4-1.6 40100 4= 200 =+ 2300
0.6-0.8 39300 4= 200 4 1900 1.6-2.0 27400 4 100 % 1500
0.8-1.0 44600 4 200 4 2300 2.0-2.5 12550 &= 90 £ 710
1.0-1.2 48800 4= 300 4 2500 2.5-4.5 1330 £ 17 +93
1.2-14 46600 4= 200 4 2500 —

ARjt(jw2)
0.4-0.6 25500 4= 200 4 1400 1.4-1.6 39900 =+ 200 =4 2200
0.6-0.8 41300 4= 200 4 2100 1.6-2.0 26500 4= 100 % 1500
0.8-1.0 44800 4 300 4 2200 2.0-2.5 11890 &= 90 4 700
1.0-1.2 48200 4= 300 4 2600 2.5-4.5 1250 + 16 4 81
1.2-14 46300 4= 300 4 2400 —

AR;e(j1)
0.4-0.6 13920 + 130 £ 980 1.4-1.6 13720 £+ 130 £ 950
0.6-0.8 18000 £ 100 + 1300 1.6-2.0 11460 £ 80 £ 780
0.8-1.0 16100 4= 100 4= 1100 2.0-2.5 8110 £ 60 =4 520
1.0-1.2 15500 £+ 100 £ 1100 2.5-4.5 1459 + 12 +97
1.2-14 14500 £+ 100 £ 1100 —

ARt (j2)
0.4-0.6 5240 4+ 70 4490 1.4-1.6 4510 = 70 + 400
0.6-0.8 6780 £ 80 + 640 1.6-2.0 3770 & 50 =+ 350
0.8-1.0 5870 £ 80 =+ 530 2.0-2.5 2530 £ 30 £ 230
1.0-1.2 5500 4+ 70 4490 2.5-4.5 463 + 7 +41
1.2-14 5050 & 70 =4 450 —

ARt (js)
0.4-0.8 1780 £ 30 + 220 1.6-2.0 1170 £ 20 £ 150
0.8-1.2 1720 £ 30 £ 190 2.0-2.5 759 + 17 4+ 89
1.2-1.6 1490 + 30 +£160  2.5-45 148+ 4 +15

ARt (ja)
0.4-0.8 477 £ 13 £ 68 1.6-2.0 319 =+ 11 £56
0.8-1.2 483 + 13 + 67 2.0-2.5 21+ 9 +35
1.2-1.6 404 + 12 £58 2.5-4.5 403+ 19 £6.2



